bl )l salal) 1

R A 3
(4):
G 1) T \ (1
FN oo 5- 7= 2+ 3=0
0
3-07 | 8|
29= 3-07
29 1 29
( 1.25)ccee.....t 29 O (2
[29]0=2+¢3 [29]0=!
[29]055—07} [29]0= } :
(10) [29]20-= &30 [29]2-= 3
(4) [29] 20 = ozs} [29] 5= o?}
[29]9= o [29]20-= ¢
[29]9= o} " [29]20+= o—}
N> /[ 29+9=y¢ O
G - SR B]1=% o (3
[3]2=20 2+ 3=0:
[38]2=3 [8]1=% : [3P2=2
[32="* 2 [Bl= ? : N> V:
N2 [e2=q o
( 4):
@ ..... 7+4+ ( 8-7)+% ( -4 =()
[ TR - () (1

égla/ 1(121 .
7+4+( 10t)( 8-7)+2( 1“)( -4)-3( 1“):( 10‘)
7+4+ a8+ o7+ ‘a—-lad+ lo-=

(7+ a/+ 2(1—3(1—) +4+ 0.8+ 4=
1 1 1 1 1



bl )l salal) 1

3, f 1 dadd)

(D :@+

(@)..... 0=4+a8+’a4
<:>0:(U—|1(1)U
(2)...0=7+ a7+ 2a—3a-
1 1 1
1= o=« (1)

( ) 2) (1-)
B2 o) + )=( ) Y B a 2

(I)... y+ (y+ P> B+ a}® o=
1n )

l1=0a
1=a +4—=B+a
8-7T=y+ P

T+4= vy

4-7=qa
4-=p

0=( ) *
(4-7+ 42 )+ H)=()
0=( 4-7+ 42 )( + )=0=( )
0=( 4-7+ 42 v 0= + )&
( (3)...... 0= 4-7+ 4% v -= )&
A 3)

........................... 4+3-=( 4-7)(1)-?(2-)= A :

4+3-=A

%5 ( )/ A= 2§ + =38
242 =% =73

@t v | ||



bl )l salal)

1
R A 3
(\) 5= 42
(). 3-=2-2
(). 2=
1-2 22 2 () (2
I-= v 1=
2= () 1=
2-= () 1- =
(0.5) e 2-1-=9 2+1=90:
s, O
2-1-2=, 2+1+2 =
(0.5) e 2-1= 3 2+3= )
2-1= 2+3= -=, 0=()
. , o (3
- 1) 2 3) (- 08
0 0
18="(1+2)1+2(0-3)=" | :
2=*(1+2-)+*(0-1)=* !
20=?(2-2 -} (3-1)=2
(0.5) e, 0 0 2 =2 147
0 —
()
[ [ ] 0 ¢ 0
[
+ +
— ( > > ) ® [z ] ®
= 20s
55 = > 0 2w



bl )l salal)

1
3.8 : Andd 3 -
“(B:)=*(0- )+*2- ): 0
((0.25) e, : 5= +*(2- )
( 12):
1 —
6+ 5-7 =C)
(3 et : (1
B 2}-%
3= v 2= )o 0=6+ 57
oo+ 3 2 00—

+%)_<%+ 6+ 5-°

ot <6+ 5% )  0=( )

ot+<| |
ot =( )
6+ 5 Lo 2¢
0<-(6+ 5-2 )
1
o0—= =
6+ 5-° a2 ) 2<-
0<-(6+ 5-2 )
1
00— = =( )
6+ 57 3o 3<
0<-(6+ 5-2 )
1
0<-(6+ 5-2 += =
( ) OO6+5—23<<—()3<<—
5+ 2-
s 5-7 ) )
5
—= 0=
> ()
5 5
—< 0> —> <0<
> () > ()
5
— 2 2 oo-
]2 [ ] [



bl )l salal) 1

3,8 s dmdd) 3 -

5
Joor 3013 [

oo+ 3

N | ol
)
8
|

()

B —O0
+
+

oo+

/NN e

( Yo d( ) o

5= 5__ 4
(05). e, oo }: 2 2 :

() .

(0.25). e, ()




bl )l salal) 1

J.EZM‘ 3
4=, () @ €
4 +(4- )@@ = ()
§__5+(4)2— _ 1: 1 _ )
4 (2 ) 2 6+20-16 ")
7 3 1. ., 3 _ .
((0.75)c e E+ i (A) E+(4 )4 : (A)
[ TSR ()
6 ()
3= 2= 0=
1
(5 0 () O
G ) PO OO PSUTRSRR .8/8 ()
(0.5) ettt Joot 3] 4
Joot 3] ( )
Joot O
- Joot O Joot 3]
Joot 3 Joot O] -
( 0.75)ecen... () o
oo+ 0
- ()"
/+
()"
3
= (=) ()
1 1
5 (=)



bl )l salal) 1

3,8 Al 3 -

4 1 1 1 1Y
( 3w we )
1 4
4+(E— )5—— ) A)
14 4 _
.?+ 3 2 ) A)
(D) 0 (5

()3 2-"> V

o~ T3C
(2+ 3)- (+)_ |

- e ) 2=tz U)o

1-=I 0= +!
1—|—: ' 1—: 2+3 .

. +3_‘ =() {3 2}-R> V:
() TP J § *
3< No>0 (@ +...+(06) +(5) +@) =

1, 1-
5 W
1, 1-
5 776
1, 1-
it 5®
1, 1-
s )
RN

1 :

+1-=() +..+(6) +(5) +@

—J



bl )l salal) 1

3. g ¢ Al 3
1 +1-—=
2- 0 0
(0.5). ettt :
00+4—0)

2—-¢

o .
0+<—U



